
EXPLODED VIEW

1"x1" Square Tube welded to 
outer tubes for strength and 
stability.

1"x1" Square Tube welded to 
outer tubes for strength and 
stability.

1
22

222

2

22 3333

3333

1

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 EDT18-B10AV 10'-0" Box Truss 18" with A/V Joints 2
2 B18.2.3.5M - Hex bolt M10 M10 Hex Bolt 8
3 B18.2.4.2M - Hex nut M10 M10 Hex Nut 8


	Exploded
	Drawing View18


